3 - 4
HiERZE BAKZF
PR BFK4L i35 HERA i3 BFK4A
VPO1(3:1)
Thkg BRER O 6 — 3 il E = ARER
6 : 0
VFA(5:0)
86kg KHRE 3 — 14 O TRT T
5 : 29
VPO1(3:1)
70kg FHEAA 1 — 3 O EINEC
6 : 00
VPO1(3:1)
125kg SKEFIRA 2 — 7 O BHEE
6 : 0
VPO(3:0)
61kg RIE5A=E O 5 — 0 T &1
6 : 00
VPO1(3:1)
65kg AL 1 — 4 O REA/NL—BR
6 : 00
VPO1(3:1)
57kg mHREE O 9 — 8 k4 REHE
6 : 00

7 - 0
NS E N2
Rtk EFRKA sk HENE R EFKA
VPO1(3:1)
125kg EHEE O 1 — 1 BEEX
VPO1(3:1)
57kg INEEA O 6 — 4 IngEssE
6 : 00
VSU1(4:1)
74kg MEEHE @ 12 — 2 RISkt
5 : 12
VPO1(3:1)
61kg FNEPN O 12 — 3 ANIER
6 : 0
VSU(4:0)
86kg EIS @ 10 — 0 EE O
1 : 05
VPO1(3:1)
70kg B A G O 3 — 1 NI N
6 : 00
VPO1(3:1)
65kg EMIER O 3 — 2 2R AR
6 : 00




